Al A

o o

Ol &b A

=
=

Al

RO

o}

=]
"l
U
<)l

= A

R s
Ho mv &0
nr & oF
< RO OY

o o (<o) <t o o o o o o o o (@] (] (] o o
[aN) N~ — (<o) o o o o o o
< = ™~ = <= el<=el=
ol o = o 0w W e el e
Ko |2 «© «© 2 4| Q<
E| —
E=]
o) [e o] [e o] [e 0] o o o o o o o o o o o o o
™ (o)) o) Al o o o o o o o o o o o o o
() N~ [ee] [{e] (@] o o o o o (V] [a\] (V] o (@] o (V]
o ) S o 6| |o N N NG oo |o < | < | <
HE 3 2 2 & oo e A I T @
[e) - - - -
™~ Y] [aN] Al (ep]
2= |5 v >
0 OO O ©O© ™M 0 WO O O N~ <t 0 O O M Al O O A o o o o o o o o o o o o o o o o o o o o o O O
O N~ O O O™ O O O A ™M™ N O O A < DD O O Al M~ o o o o o o o o o o o o o o o o o o o o o O O
Co0N S |lAOMOUIR|IN MOW— (S RNOLWNIS|S|E& &8 |8 |6 v m S o |d|d|d |33 |8 & o || Sd
— = <t O W 0 AN O O < AN Al O O D Al Al OO ™ (e] o (e] o Al Al Al N~ [ Ye) (V) (o] (o)) (o] ()] <+ <t < N~ N~ 2l e]
M ©O© N — Al DO DMOANU|— OXMOM|O ONOSD —|~—|—|— — || S| - — ||| || |- ™ - —
© O N OO N fm O NN @
3l o o Nl o< A ol o < o | < « —
=3
mms W mm= W mms W mm= W o
ar
=)
B
31 0
=< — El < <
I+ o —~ -~ — V)]
= = H 3 © ol Ho o
. 30 S 00 5 K = 22
~ O wowoH = o)
M o 70 WOwr W B Wo Wo
o = I g R R R o S =
30 K- Ki o5 o Ki K{i o) ol
oF oH ™ &0 E KO KO KO KO u._ o | M B &
- Ho ® oW O® W = | = = or
8 - 30 - ) 3 ol | & O e
. m; = m_ Z O < < L =z
& " n Bl B |H|R|0R R A|®|R|D R W g |z H 5|3
%0 0 0 ﬂo S |® = .Tw_ S |® s 3 8 & |= | [R S |®0 < <k | ®
. Ho 50 SRR AR H H H H o [ A |~ HO| S| A [AN OF OF | RO
= 0 ol niajal Oflw|aljal O O O O™ |al|a) Ofs |al|ar O Oa
X - 2l lsle Dl ol |5y | sy 3
I+ 5 I 0 =3 3 | 8 a |8 = =
. =0 03 = o0 H Ho oF 1ok
rr mr 0 ar %0
A | R a1 il
H0 H0




.

=
"l
U
<)l

= A

R s
Ho mv &0
nr & oF
< RO OY

<

n0

Kio

Hl w

7,200

7,200
7,200

H3r
Wikd
RIS

34,200

34,200

10,800

10,800
10,800

853,047

853,047

853,047

6,000
6,000
6,000

23,000

23,000

23,000

Off &t 24

34,200
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18,000
15,000

3,000
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4= =73 SN SYFHD
Hu: gs ¥ESE
Sl MolsolYs (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 1,295,566 331,500 964,066
= 1,149,280
& 146,286
01 HIXNHHBHNEELES 1,295,566 331,500 964,066
O3YE =g =833 N (NE3) 1,284,066
= 1,137,780
< 146,286
OFY =go d=s&= N (2F) 11,500
= 11,500
SEEY FEsge 33 NA 86,400 0 86,400
308 MtXIEHMSOIH 86,400 0 86,400
01 HIXNHHBHEELS 86,400 0 86,400
Os&dYy Fdsge 83 X 86,400
SESSHIIA =AM XS 86,250 86,250 0
s 75,000
< 11,250
308 XX EHH SOl 86,250 86,250 0
s 75,000
< 11,250
01 HIXNHHBNEES 86,250 86,250 0
O=Z3SHaAL AL XA 86,250
s 75,000
< 11,250
sXolE2el X 300,526 296,629 3,897
J| 300,526
308 XXM SOIA 300,526 296,629 3,897
J| 300,526
01 AXHHILEES 300,526 296,629 3,897
OsXol8ael X 300,526
J| 300,526
ZANE SERIXNEA 598,000 390,000 208,000
= 460,000
< 138,000
308 MtXIEHSOIH 598,000 390,000 208,000
= 460,000
< 138,000
01 HXNHHBHEELS 598,000 390,000 208,000
OZANE SESRXXNA 598,000
= 460,000
< 138,000
SEHEEL0S 243 502,512 343,655 158,857
= 364,990
=) 137,522
201 Let24E] 10,000 0 10,000




4= =73 SN SYFHD
Hu: gs ¥ESE
Sl MolsolYs (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 At 22l 10,000 0 10,000
OsZEHEF20S 882 MH 10,000
308 XtXIEHH SOl A 492,512 343,655 148,857
= 364,990
< 127,522
01 AXHHBILEES 492,512 343,655 148,857
OsEMgs2d0ts 24 XA 492,512
= 364,990
= 127,522
SEMEs20E AN AAS 4,050 5,000 A 950
201 Let249H] 1,800 3,500 A 1,700
03 AL2 I 1,800 3,500 A 1,700
OsEMEzd0is NEX A& 1,800
301 et d = 2,250 1,500 750
09 HALAHIE& S 2,250 1,500 750
OsZHEs2d02 NN ATAE S&H S 2,250
Hse siiFe2H X 30,000 30,000 0
403 XIS E X201 E 30,000 30,000 0
01 X SHHAN2E= 30,000 30,000 0
OF=se sIt=s=cldlX& 30,000
SEMEs20tS sotgdAr X3 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 It S AIHE LS 30,000 30,000 0
OsSZENEFTA0IS SO A K& 30,000
HsQe & =4 97,500 78,000 19,500
= 75,000
< 22,500
403 UHXSHHSA=0l& 97,500 78,000 19,500
= 75,000
= 22,500
01 X SHHMA2E X 97,500 78,000 19,500
OAseo & =4 97,500
= 75,000
= 22,500
HsHEL ¥ XNE=0 S3tus N 6,000 5,400 600
308 XXM SOIA 6,000 5,400 600
01 XML EES 6,000 5,400 600
OFsHELY & N0 S3tu=E N2 6,000
SEMEsL0E L3 us 13,641 14,947 A 1,306
= 11,560
< 2,081
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AETICEE SN SYFHI
Hu: gs ¥ESE
Sl MolsolYs (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 13,641 14,947 1,306
= 11,560
< 2,081
01 HIXNHHBHNEELES 13,641 14,947 A1,306
OsEMEFs20S d&Ls U=s 13,641
= 11,560
< 2,081
H=sHE S I M2 10,000 0 10,000
201 Let24E] 10,000 0 10,000
01 At 22l 10,000 0 10,000
OA=sAHE S M ME 10,000
MBI Hs 243 X3 142,200 0 142,200
= 126,000
= 16,200
308 MtXIEHMSOIH 142,200 0 142,200
= 126,000
< 16,200
01 HXNHHNBHELS 142,200 0 142,200
OMaZE=Y 435t XA 142,200
= 126,000
< 16,200
Hetel=s SAlsgegal Al 60,000 0 60,000
308 A EHSOIA 60,000 0 60,000
01 HXNHHNBHNEELS 60,000 0 60,000
Oogtel= SAsge g3 Mz (te) 60,000
SEEFHAMA 79,665,304 81,718,164 A 2,052,860
= 9,080
as 79,359,000
< 297,224
JI A =t 2 SZF MY 1,412,500 2,156,572 AT44,072
s 1,163,000
< 249,500
403 Ut SHHS =0l & 1,412,500 2,156,572 AT44,072
s 1,163,000
= 249,500
01 AXSHHA=2E = 1,412,500 2,156,572 AT44.,072
OJIAsEAaZ &XF AY 1,412,500
s 1,163,000
< 249,500
AR SEHLAY 3,313,000 7,258,000 A 3,945,000
s 3,313,000
403 MHXISH S X201 & 3,313,000 7,258,000 23,945,000
s 3,313,000
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01 HXSHMA2E X 3,313,000 7,258,000 A 3,945,000
ORIt SSHMHLASY 3,313,000
s 3,313,000

OISCSI| SEMLAY 1,862,000 1,353,000 509,000
s 1,862,000

403 MtXISHHE X201 & 1,862,000 1,353,000 509,000
ras 1,862,000

01 XM A2 X 1,862,000 1,353,000 509,000
OntsetsJ| SEHEAMY 1,862,000
s 1,862,000

DISH? SSE23= XA 2,856,000 2,515,000 341,000
s 2,856,000

403 A X EHHS 20l A 2,856,000 2,515,000 341,000
s 2,856,000

01 X HHMA=LE L 2,856,000 2,515,000 341,000
ontse 223 2XAY 2,856,000
s 2,856,000

OtStel SHA (M)A 3,908,000 6,147,000 A 2,239,000
s 3,908,000

403 Ut SHHSA=0l& 3,908,000 6,147,000 A 2,239,000
s 3,908,000

01 XM A2E X 3,908,000 6,147,000 A 2,239,000
OllSHe HZ (FZMEH)ALS 3,908,000
s 3,908,000

SEME EFFH ALY 17,399,000 17,354,000 45,000
s 17,399,000

403 MtXISHHE X201 & 17,399,000 17,354,000 45,000
as 17,399,000

01 AXSHMA=2EE 17,399,000 17,354,000 45,000
OsZdg 288l A g 17,399,000
s 17,399,000

AROIEESE ALY 134,000 140,000 26,000
s 134,000

403 A X EHS =0l A 134,000 140,000 A 6,000
s 134,000

01 X SHHA2E= 134,000 140,000 26,000
O& RIS =L ALY 134,000
as 134,000

SESAAX 243 AY 40,108,000 32,863,000 7,245,000
s 40,108,000

403 MHXSHHSA=0l& 40,108,000 32,863,000 7,245,000
s 40,108,000

01 HXSHMA=E X 40,108,000 32,863,000 7,245,000
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45,000

22N B S(AA) - HRAY - BYS 0l &t o il HDEZ

O=sES8A 283 A 40,108,000
= 40,108,000

I =MEolZtHEYl AL 913,000 A4,921,000
= 913,000

403 A X EHHS K= 0l A 913,000 A4,921,000
= 913,000

01 X SN2 E=x 913,000 A4,921,000
OJdlzdaolZetdH A Y 913,000
= 913,000

A2 &2 Ot0ICI At 677,000 A 531,000
= 677,000

403 TtXI M S A =01 A 677,000 A 531,000
= 677,000

01 X SHHA =22 & 677,000 A 531,000
OAlZ &2 OtOICIH At 677,000
s 677,000

A2 st ALY 1,161,000 105,000
= 1,161,000

308 AHAIEHHSOIA 1,161,000 105,000
= 1,161,000

01 XN EES 1,161,000 105,000
OAlZ 9&23 ALY 1,161,000
= 1,161,000

SZ08 AHIA L HEDS 11,804 26
=2 9,080
=) 2,724

308 XXM SO A 11,804 26
=2 9,080
< 2,724

Y EREES 11,804 26
Os0{Es AFDST = 1,804
2 9,080
< 2,724

SEMHEAAY 1,470,000 1,470,000
= 1,470,000

403 X SHSKH=0l& 1,470,000 1,470,000
= 1,470,000

01 XX SHH A =22 & 1,470,000 1,470,000
OsEMEHASHAAEY 1,470,000
= 1,470,000

SEHOSY HAHZZ20d HEXA 195,000 195,000
150,000




A FE = 5
HE: Qs HESE
2 sEFFHAMA (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
308 XXM SO0 A 195,000 0 195,000
s 150,000
< 45,000
01 HIXNHHBHNEELES 195,000 0 195,000
O=ZHOIEE HAHAZZ Y WX 195,000
s 150,000
< 45,000
=M NHESY 1,490,000 0 1,490,000
as 1,490,000
403 MtXISHHE X201 E 1,490,000 0 1,490,000
s 1,490,000
01 XS M A=2EE 1,490,000 0 1,490,000
OJIzdaHE=sd 1,490,000
s 1,490,000
(B E=2I S NE=] -TPN 3] 2,650,000 0 2,650,000
s 2,650,000
403 A X EHHS =0l A 2,650,000 0 2,650,000
s 2,650,000
01 X SHHX2E= 2,650,000 0 2,650,000
ONtSSHSII NS HL M 2,650,000
as 2,650,000
SEUSEIAY 105,000 0 105,000
s 105,000
308 XXM SO0 A 105,000 0 105,000
s 105,000
01 HXNHHNBMNEES 105,000 0 105,000
O=sEUS=E|AY 105,000
s 105,000
sgel=sXsd 3,387,161 3,632,494 A 245,333
= 12,500
< 3,374,661
ST AL 204,000 372,000 A 168,000
307 g1+l & 204,000 372,000 A 168,000
04 DI2FHALAISE E X 204,000 372,000 A 168,000
Osgoldigas A= 10,000
O=RclsdtE X201 2l A 12,000
OsE=SEHY JIEE0LE A 30,000
OX==LlsX 32U Mzl 50,000
Ost=0d=gQ A3 Fot 20,000
Ost==s3Z THal M= 82,000
sgEE M3 135,984 131,832 4,152
308 XX EHH SOl A 135,984 131,832 4,152
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4= sy= SN S
HE: gy HESE
ch < [9SSAMY |4 (&)
= — — L=
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
|9 EsAtE sS4 5,978,017 4,080,572 1,897,445
=2 1,877,931
s 3,246,600
< 1,353,486
=205 sats 80ty FHIt 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
Od=28 stt= oitg ot 6,000
SESMXAE 93,600 53,300 40,300
= 72,000
< 21,600
308 XX EHSOIA 93,600 53,300 40,300
= 72,000
< 21,600
01 HIXNHHBNEES 93,600 53,300 40,300
OsE=HMAE 93,600
= 72,000
< 21,600
SENMY B4 794,000 0 794,000
s 663,000
< 131,000
403 MtXISHE X201 H 794,000 0 794,000
ras 663,000
< 131,000
01 X SHHX2E = 794,000 0 794,000
OELHEHE ALY 794,000
s 663,000
S 131,000
FAZHAES ALY 4,717 15,072 A 10,355
2 3,931
< 786
308 MtXIEHSOIH 4,717 15,072 A 10,355
2 3,931
< 786
01 HIXNHHNBHEES 4,717 15,072 A 10,355
OIS 2T A= M AL 4,717
= 3,931
< 786
sS&2 HMEX I8 - |8 AMEXE 2,816,400 2,016,000 800,400
s 2,347,000
< 469,400
403 MtXISHHE =0l & 2,816,400 2,016,000 800,400
s 2,347,000
< 469,400
01 XM A=2E X 2,816,400 2,016,000 800,400




A= 2 = 5
HE: gy HESE
S NNSHAY |4 EERED
S 2N BB (BH) - SN - B2 0 Ak o8 ﬁlf& HDS2
OsdE HE-JIE -85 AEXHE 2,816,400
rag 2,347,000
o= 469,400
SEEEELH ALY 138,600 138,600 0
Fag 138,600
308 AXISHAMSOIA 138,600 138,600 0
fag 138,600
01 AIXHMBANEXZ 138,600 138,600 0
Os=sZ=S&EZE AIY 138,600
hag 138,600
SZEEHXNIALME SE X 120,000 120,000 0
= 60,000
& 60,000
307 212t0| & 120,000 120,000 0
= 60,000
o= 60,000
02 AABMHANEEX 120,000 120,000 0
O=sZ=24d3 N3 29X 120,000
= 60,000
& 60,000
SERESANA 182,000 154,700 27,300
= 140,000
= 42,000
308 AXISHMSOIHA 182,000 154,700 27,300
= 140,000
= 42,000
01 HXHHNBIMNEXTS 182,000 154,700 27,300
SESSAE 182,000
= 140,000
o= 42,000
SNBSS & X ol 6,900 6,900 0
202 04| 6,900 6,900 0
01 2L Y| 6,900 6,900 0
OsXNdEE BIIHEQ)E X 2ol 6,900
sEMsUs AN E2sAd 98,000 42,000 56,000
hag 98,000
308 XX S M SO0l & 98,000 42,000 56,000
rag 98,000
01 AXHNBNMNEXZ 98,000 42,000 56,000
sEMsUs XNAA 2sHd 98,000
fag 98,000
SESSENY 245X RA 974,800 997,000 AN 22,200
= 502,000
= 472,800
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 974,800 997,000 A 22,200
2 502,000
< 472,800
02 PIZHEHAHE L 974,800 997,000 A22,200
OsEsSEgty g4dsXa 974,800
= 502,000
< 472,800
6RHMH SR A AtY 566,000 531,000 35,000
=2 450,000
< 116,000
403 MtXISHHE X201 & 566,000 531,000 35,000
2 450,000
< 116,000
01 XM A=2EE 566,000 531,000 35,000
O6XHAHASEAI 7 2E ALY 566,000
2 450,000
< 116,000
NEe? WERIT X 177,000 0 177,000
= 150,000
< 27,000
308 XtXIEHH SOl A 177,000 0 177,000
= 150,000
< 27,000
01 HXNHHNBHEELS 177,000 0 177,000
OXEel HEKZ 75 N 177,000
=2 150,000
< 27,000
HE2HZH (sZ ) 85,694 84,940 754
JlE &l 85,694 84,940 754
JlE&l 85,694 84,940 754
201 £B-2dH| 19,514 17,740 1,774
01 At 22l 19,514 17,740 1,774
OJle=+=&Hl 7,964
OPIE=1i:] 11,550
202 44l 41,580 37,800 3,780
01 SLHOYI 41,580 37,800 3,780
OJlEdtl 41,580
203 YR =&l 24,600 25,800 A 1,200
01 122 =4 6,600 6,600 0
O=s3d=% 6,600
04 EA2IYRFLH| 18,000 19,200 A 1,200
O=sg 3 4,200
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N = 0l & At & M A

s3d= M RIsLHD
sol WA B3
SEEEE Y CEEEED
- _ — d =
CRN I S(EH) - MRAY - BYS 0] &k o4 e HlDE2
AF Tt 147,410,832 139,294,110 8,116,722
2 95,869,017
2 20,466,000
J| 10,869,581
< 20,206,234
=g e 25t 147,347,738 139,246,201 8,101,537
= 95,869,017
s 20,466,000
J| 10,869,581
< 20,143,140
gZsgsy 21,385,821 22,543,435 A1,157,614
= 17,106,386
J| 580,000
< 3,699,435
s =M 1,443,200 1,253,000 190,200
= 1,443,200
308 XXl EHH SOl A 1,443,200 1,253,000 190,200
= 1,443,200
01 HXNHHNBHELS 1,443,200 1,253,000 190,200
Otz =A 1,443,200
= 1,443,200
sII&2dlg XN& 11,903,256 11,605, 160 298,096
= 11,903,256
308 AHXIEHSOIA 11,903,256 11,605, 160 298,096
= 11,903,256
01 HXNHHNBHEELS 11,903,256 11,605, 160 298,096
SIEHZ X 11,903,256
= 11,903,256
FI=sSUM XA 217,500 217,500 0
= 150,000
< 67,500
308 XXM SOl A 217,500 217,500 0
= 150,000
< 67,500
01 AXHHILEES 217,500 217,500 0
ORIsSM K& 217,500
= 150,000
< 67,500
Zoioe IEP MXNEE SHAY 800,000 0 800,000
J| 500,000
< 300,000
307 21201 A 800,000 0 800,000
J| 500,000
= 300,000
02 It S AMHEL 800,000 0 800,000
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BEEREE SN RISAD
M =9 WA L3
oo AEFSASH (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
XNEStHAsHOl = 9,000 9,000 0
307 2Iz2t0| A 9,000 9,000 0
04 QI2HEH AFAFQI 2 X 9,000 9,000 0
OrEHA=sH = 9,000
SHA=HOl A XS 20,000 20,000 0]
307 2iz2tol A 20,000 20,000 0
04 QIZ2tSHAFALS B X 20,000 20,000 0
OrEH=HO A & 20,000
SIls FUsgol oE X3 23,904 23,904 0
307 QI2t0| & 23,904 23,904 0
02 Q2B AMAIE E =X 23,904 23,904 0
ORJls ddEsgeol oE I& 23,904
SIlls 95 EUHE /st s N 31,200 31,200 0
308 MXISHMSOIA 31,200 31,200 0
01 IXHHINMNEEXTZ 31,200 31,200 0]
S)ls 95 EUE ASt s N 31,200
AEtAsaE 2SI |4 240,040 240,040 0
308 AHXIEHMSOIA 240,040 240,040 0
01 AIXSHMEAMNEX= 240,040 240,040 0
OrEHASHNE S5 H 240,040
HAMNASE JEedsE 4 210,000 210,000 0
403 XX SHS K20 & 210,000 210,000 0
01 XIS A=Z2E X 210,000 210,000 0
OYAMAE Etd=sd 4 210,000
Flls s S5t SHEEH| 656, 100 570,000 86, 100
308 MXISHMSOIA 656, 100 570,000 86, 100
01 IXHHIMNEXZ 656, 100 570,000 86, 100
RJls P9 ASEI BYPHY) 656. 100
MR XESHASAMAZE M0 XA 432,000 0 432,000
308 XX SHHSOIA 432,000 0 432,000
01 AIXSHMENEXZ 432,000 0 432,000
OltE FetAsME A0l XS 432,000
ESMEH BEX 4,463,181 4,463, 181 0
= 3,609,930
& 853,251
308 XX G SOl A 4,463,181 4,463, 181 0
= 3,609,930
& 853,251

[e)}
|




M ox
40 5 4

AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2

01 XHNBMNEXTZ 4,463,181 4,463,181 0
OELMNHH X 4,463,181
=2 3,609,930
o= 853,251

EHAHEIH MAAIE SHUS 104,000 0 104,000
Dl 80,000
& 24,000

403 XX S M S K201 A 104,000 0 104,000
Jl 80,000
= 24,000

01 AIXISHM A28 X 104,000 0 104,000
OxIEHEH MAAIE S 104,000
Dl 80,000
= 24,000

ARSI 79,542,589 78,411,700 1,130,889
= 70,314,920
Dl 481,500
= 8,746,169

HASHHENEN(HDEY) 42,209,000 43,487,100 ~1,278,100
= 42,209,000

308 XX SHHSOIH 42,209,000 43,487,100 N 1,278,100
= 42,209,000

01 AXHNBMNEXZ 42,209,000 43,487,100 N 1,278,100
OMASEXEAEN 42,209,000
= 42,209,000

gsd =N 15,628,000 14,445,000 1,183,000
= 15,628,000

308 AXISHXMSOIH 15,628,000 14,445,000 1,183,000
= 15,628,000

01 HXHNBMNEXTZ 15,628,000 14,445,000 1,183,000
Ogsgda=H 15,628,000
= 15,628,000

XAHE2XNEE=A 3,079,875 3,010,000 69,875
= 2,865,000
& 214,875

308 XX SHHSO0IA 3,079,875 3,010,000 69,875
= 2,865,000
& 214,875

01 AIXHMBAEXZ 3,079,875 3,010,000 69,875
OXHECIXNGXEM At 3,079,875
= 2,865,000
= 214,875

SYUASENNEN A2l (E) 30,000 0 30,000
Dl 30,000




A= 533 A RO =41
M=ol AWM L3
ol MRS SY CER-ED
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
201 Le-2d| 10,000 0 10,000
| 10,000
01 At 22l 10,000 0 10,000
O=sHASEHAEM At 2tel 10,000
| 10,000
202 o4dl 20,000 0 20,000
| 20,000
01 = LH o4 1l 20,000 0 20,000
OsgdAasEdAEN XA 20,000
| 20,000
SHASEAINEM At 22l (AZ) 451,500 0 451,500
J| 451,500
308 XX EHH SOl A 451,500 0 451,500
| 451,500
01 HXNHHBHELS 451,500 0 451,500
O=sHASEHAEM At 22l 451,500
| 451,500
H 2ESNHH N2 829,650 829,650 0
308 XXM S0 A 829,650 829,650 0
01 AXNSGHBLAEES 829,650 829,650 0
Ol 23X XA 829,650
Ed =sgEs A X 2,200,000 2,200,000 0
308 XXIEtH S0l A 2,200,000 2,200,000 0
01 IXNHHBMNEES 2,200,000 2,200,000 0
OxEd ==sdg=> s N 2,200,000
Zitel 28 &1 - 22 262,500 294,000 A 31,500
403 XIS E X201 E 262,500 294,000 A 31,500
01 X SHHAN2E = 262,500 294,000 A 31,500
OxAel 24 &4 - 22 262,500
TEAEF0 MAMCR sS4 194,400 194,400 0
308 XIS 194,400 194,400 0
01 HXNHHBHELS 194,400 194,400 0
ORSASL0 MAGK 84 194,400
A MAMAZTEM ALY 8,073,164 6,792,450 1,280,714
= 7,509,920
< 563,244
308 XXM S0 A 8,073,164 6,792,450 1,280,714
= 7,509,920
S 563,244
01 HIXNHHBNEES 8,073,164 6,792,450 1,280,714
Of MAZIM ALY 8,073,164




o= s38= M RIsLH
M=ol AWM L3
ol MRS SY (29 & 9)
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 7,509,920
= 563,244
SOIH A A &X 2,340,000 2,340,000 0
= 1,800,000
< 540,000
403 UHXSHHSA=0l& 2,340,000 2,340,000 0
= 1,800,000
< 540,000
01 HXSHMA=E X 2,340,000 2,340,000 0
OsJ1H LML X 2,340,000
= 1,800,000
< 540,000
FARR L2018 X2 130,000 130,000 0
= 100,000
< 30,000
403 UtXISHH S A0l & 130,000 130,000 0
= 100,000
< 30,000
01 XS M A=2EE 130,000 130,000 0
O=4&X 201 H st X 130,000
= 100,000
< 30,000
HAzstE sIIH X 97,500 97,500 0
= 75,000
< 22,500
403 A X EHHS =0l A 97,500 97,500 0
= 75,000
= 22,500
01 X EHHMA=E L 97,500 97,500 0
ondgstd sJIH X 97,500
= 75,000
= 22,500
sZIIH SaEFX 23 XA 185,600 185,600 0
= 128,000
< 57,600
308 X EHH SOl A 185,600 185,600 0
= 128,000
< 57,600
01 HIXNHHBNEES 185,600 185,600 0
OsgJIH Ss&EX 25 K& 185,600
= 128,000
< 57,600
A=A ZH 222 300,000 300,000 0
403 XSS AE201 & 300,000 300,000 0
01 XM A=2EE 300,000 300,000 0




N s
X ZH =
L=} =}
SN

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OgsJIAHs HH 22 300,000
Ss&Y e MUlAdEH 29 K& 330,000 330,000 0
308 XXM SOl A 330,000 330,000 0
01 IXNHHBNEES 330,000 330,000 0
O=s&d e MulAadyH 22 K& 330,000
HEd ISFALYE)| =22 75,600 75,600 0
403 MHXISHE X201 H 75,600 75,600 0
01 X SHHXN2E= 75,600 75,600 0
Ofletd SsFHL)| 33 75,600
sS4 otEAIE EH K& 72,000 72,000 0
308 MtXIEHMSOIH 72,000 72,000 0
01 HXNHHNBHELS 72,000 72,000 0
O=s%&g etEAME ZHl K& 72,000
sJIH SEd K& 321,300 112,000 209,300
308 XXM SO A 321,300 112,000 209,300
01 HIXNHHBNEES 321,300 112,000 209,300
OsJIH E&g28 X 321,300
AEH=s Ml sHEZX B2 20,000 20,000 0
308 XXM SOIA 20,000 20,000 0
01 AXHHBILEES 20,000 20,000 0
OudAs )z sPHEEXN ES 20,000
AMAs AN XS 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
OHXAs A XA 40,000
SEAdYgs disY=E A 7,500 15,000 A7,500
307 gl2tol & 7,500 15,000 A7,500
02 It M AHE X 7,500 15,000 AT7,500
OSR+uHAs HASYR o4 7,500
=EY HIERA dE=sI 24 R 400,000 300,000 100,000
308 XXM SO A 400,000 300,000 100,000
01 HIXNHHBNEES 400,000 300,000 100,000
O=E2 HASd 8=t 54 N&E 400,000
DEZH MATHY &3 N 222 163,800 163,800 0
308 XtXIEHH SOl A 163,800 163,800 0
01 AXHHILEES 163,800 163,800 0
O MATHHY 2&d UM =2 163,800
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BEEREE SN RISAD
Ha: s A L
ol MRS SY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
S=EsAHHEsEE UE X 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DI2ZHHALALSE E X 10,000 10,000 0
Os=siMgsxzg us N 10,000
SHAA 23 16,200 16,200 0
201 Zet24l 15,000 15,000 0
01 At 2t 2l 15,000 15,000 0
OBt & =2l 15,000
203 YR =2t 1,200 1,200 0
03 Al =AY R =& 1,200 1,200 0
ORISR AH =& 1,200
s&=2 MHol2& K& 2,000,000 1,500,000 500,000
308 MXIEHSOIH 2,000,000 1,500,000 500,000
01 HXNHHNBHEELS 2,000,000 1,500,000 500,000
O=sz&& Mol2e XA 2,000,000
FAH =08 22 £F 882 75,000 0 75,000
308 XAtXIEHH SOl 75,000 0 75,000
01 HIXNHHBMNEELES 75,000 0 75,000
RAMH =08 8 =& 88 75,000
JIgE NAEA=ZS S8 84 15,417,578 9,665,316 5,752,262
= 831,711
J| 9,808,081
< 4,777,786
== DSE AL ALY 1,431,150 1,293,400 137,750
J| 987,000
< 444,150
403 MtXISHHE A0l & 1,431,150 1,293,400 137,750
J| 987,000
< 444,150
01 AXISHHA=2E = 1,431,150 1,293,400 137,750
Oit= NSE ANES U A 1,431,150
J| 987,000
< 444,150
DAMBHAMCR JIBEELHALS 2,991,000 1,883,000 1,108,000
J| 2,783,000
< 208,000
403 A X EHHS =0l A 2,991,000 1,883,000 1,108,000
J| 2,783,000
< 208,000
01 X HHMA=LE L 2,991,000 1,883,000 1,108,000
OWANMZMAMCR JIBFEHALS 2,991,000




o= s38= M RIsLH
M=ol AWM L3
o9l JlYE USRS 58 54 (B9 ®R)
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Jl 2,783,000
= 208,000
W==HE APCAIE E2AtS 2,850,000 525,000 2,325,000
J| 1,900,000
< 950,000
403 UHXSHHSA=0l& 2,850,000 525,000 2,325,000
J| 1,900,000
< 950,000
01 HXSHMA=E X 2,850,000 525,000 2,325,000
OL==HE APCAIE E2AtS 2,850,000
J| 1,900,000
< 950,000
TSSSWA WUZAT AGAY 377,000 0 377,000
= 290,000
< 87,000
308 XXM SOl A 377,000 0 377,000
= 290,000
< 87,000
01 AXHHBISEES 377,000 0 377,000
OxzsSsSua W2t XE AEAY 377,000
= 290,000
< 87,000
taBEdE 4 315,000 0 315,000
J| 180,000
< 135,000
308 Xt XIEHH SOl A 315,000 0 315,000
J| 180,000
= 135,000
01 HXNHHBHELS 315,000 0 315,000
onasete 4 315,000
J| 180,000
< 135,000
NEEL = 1,240,614 1,500,040 259,426
J| 855,596
< 385,018
403 XSS =0l & 1,240,614 1,500,040 A 259,426
Jl 855,596
< 385,018
01 XM A2E X 1,240,614 1,500, 040 A 259,426
OAEZJ0l st 1,240,614
J| 855,596
< 385,018
= HIJHE THHAIE XI& 245,000 156,000 89,000
J| 245,000
403 MtXISHHE X201 E 245,000 156,000 89,000
J| 245,000
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a=: 583 M RIIsEY
X XH =0 2HxHad It F
Gel Y NHSsNS SA R4 CERED
F-RA-BH-SAEA) - HRAY - BAS of 4 o4 il HI RS2
01 HXSHH =R 245,000 156,000 89,000
OXF HIJIE THEHAIE XI& 245,000
Jl 245,000
AEZ0 HHXO0E S83 AL (EZAE) 466,711 439,000 27,71
= 466,711
403 TtXI M S A =01 A 466,711 439,000 27,71
= 466,711
01 HXSHHG=Ex 466,711 439,000 27,71
OAEHN HHXIOE S83 AIS(EZAE) 466,711
= 466,711
AEZ0 HEX0E S83AIE (X2 HE=) 75,000 0 75,000
= 75,000
403 MR SHHMS K201 H 75,000 0 75,000
= 75,000
01 XA 22 X 75,000 0 75,000
ON&0 HHXO0IE ESSAM (XY N2
) 75,000
= 75,000
Qlalh MAAIE SIS 364,095 255,200 108,895
Jl 251,100
S 112,995
403 TtXI M SA=01A 364,095 255,200 108,895
Jl 251,100
S 112,995
01 X EHH 2L X 364,095 255,200 108,895
Ol MaAlE S 364,095
Jl 251,100
= 112,995
HA MaAd St 570,575 174,000 396,575
Il 393,500
S 177,075
403 TR SHHSA=01H 570,575 174,000 396,575
Il 393,500
< 177,075
01 HXSHHN=E 570,575 174,000 396,575
OHA MaAE SUs 570,575
Jl 393,500
£ 177,075
SRR ALY 1,391,000 1,275,000 116,000
Il 1,070,000
= 321,000
403 TtXI M SA=01A 1,391,000 1,275,000 116,000
Jl 1,070,000
& 321,000
01 HXSHH =L E 1,391,000 1,275,000 116,000
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o= s38= M RIsLH
M =9 WA L3
o9l JlYE USRS 58 54 (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
OFBRLHDEIRE ALY 1,391,000
J| 1,070,000
< 321,000
ANE2U ICT 858 ot AtY 188,217 108,750 79,467
J| 129,805
= 58,412
403 MtXISHHE X201 E 188,217 108,750 79,467
J| 129,805
< 58,412
01 AXISHHA2E = 188,217 108,750 79,467
OAIZ30 ICT 8= 24t ALY 188,217
J| 129,805
< 58,412
SHIF M=EMH FF SEAY 18,966 100, 176 A81,210
J| 13,080
< 5,886
403 A X EHS =0l A 18,966 100, 176 281,210
J| 13,080
< 5,886
01 X EHHMA=ZLE L 18,966 100, 176 A81,210
Oslgls == HHES FEAMY 18,966
J| 13,080
< 5,886
ASHSLYSIAJAEH AE 1,300,000 0 1,300,000
J| 1,000,000
= 300,000
403 MtXISHH S =0l & 1,300,000 0 1,300,000
Il 1,000,000
S 300,000
01 AXISHHA=2E = 1,300,000 0 1,300,000
OASHSMUASFNAMEH HE 1,300,000
J| 1,000,000
< 300,000
dEd NGEA= |4 400,000 400,000 0
403 XIS E X201 & 400,000 400,000 0
01 X SHHAN2E = 400,000 400,000 0
O&sd NFEE=A=s 54 400,000
dEtd Y FAUUMAE B 300,000 300,000 0
403 A X EHHS =0l A 300,000 300,000 0
01 X HHMAZE L 300,000 300,000 0
Ozled EE JAMMLAE BE5 300,000
It EE2 MAEH X& 300,000 300,000 0
403 XSS A=0l& 300,000 300,000 0
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BEEREE SN RISAD
M =9 WA L3
o9l JlYE USRS 58 54 (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
01 XIS A2 X 300,000 300,000 0
Ot = E2 MAXH X 300,000
A oM NESEH 22 91,500 91,500 0
308 XHXIGHH SO0l & 91,500 91,500 0
01 IXHHIMNEXS 91,500 91,500 0
OF&EH ola NESXH 22 91,500
FHHMNE2E sHSUH A& 30,000 30,000 0
403 XX SHHS K201 & 30,000 30,000 0
01 AXESHIE2E X 30,000 30,000 0
OJMEEZ2 s&gUH N 30,000
na SEEA AR 300,000 300,000 0
308 XHXIEHSOIA 300,000 300,000 0
01 AIXSHMENMNEX= 300,000 300,000 0
Onal SEerA I K& 300,000
EA AERJNHAZ EXEZNMA X2 74,250 74,250 0
308 XHXIEH SOl A 74,250 74,250 0
01 AIKISHHEMNEXZ 74,250 74,250 0]
OrEAH ANERUES EXESHHMNSL XA 74,250
HHx 2SR XA 97,500 0 97,500
403 XX SRS K 20| & 97,500 0 97,500
01 XHHE2E =X 97,500 0 97,500
Ogdx B2s=s2& &4x & 97,500
SHMAD| B A 31,001,750 28,625,750 2,376,000
= 7,616,000
= 20,466,000
& 2,919,750
=& AFE 6,526,000 6,500,000 26,000
= 6,526,000
402 SI2vXHE0| & 6,526,000 6,500,000 26,000
= 6,526,000
02 QX2 A E X (0| X THSH) 6,526,000 6,500,000 26,000
OBl EAS 6,526,000
= 6,526,000
st e A 1,226,250 1,226,250 0
= 1,090,000
& 136,250
403 XX SHHS K20 & 1,226,250 1,226,250 0
= 1,090,000
& 136,250
01 XIS A2 X 1,226,250 1,226,250 0
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A= =833 2A  RIIssD
M=ol AWM L3
S gAY (&2 &)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
Osted bl SN AS 1,226,250
= 1,090,000
o= 136,250
2OIEFE Bl ALY 2,668,500 1,155,000 1,513,500
Fag 2,372,000
& 296,500
403 XX S S X201 A 2,668,500 1,155,000 1,513,500
fag 2,372,000
& 296,500
01 MXHHEBE =X 2,668,500 1,155,000 1,513,500
O etEHIALS 2,668,500
hag 2,372,000
= 296,500
HRE3 XA AL 3,085,000 1,462,500 1,622,500
hag 2,742,000
< 343,000
403 MtXISHH S K201 3,085,000 1,462,500 1,622,500
hag 2,742,000
o= 343,000
01 MHXHXMAHEE = 3,085,000 1,462,500 1,622,500
OU=&HANAECAE 3,085,000
= 2,742,000
& 343,000
ANZE2lAIEME =AY 9,625,500 6,940,000 2,685,500
fag 8,556,000
== 1,069,500
403 XX S M S X201 A 9,625,500 6,940,000 2,685,500
= 8,556,000
= 1,069,500
01 MXHHAEBE = 9,625,500 6,940,000 2,685,500
OANZx2lAIEME =AY 9,625,500
rag 8,556,000
& 1,069,500
NESB2LIMSAS 5,200,000 6,506,000 A 1,306,000
rag 5,200,000
403 XX S M S K201 A 5,200,000 6,506,000 A 1,306,000
Rag 5,200,000
01 AIXISHM A28 X 5,200,000 6,506,000 A 1,306,000
OXNELBLIMLAS 5,200,000
hag 5,200,000
AHIEESIHIAS 1,096,000 4,824,000 N 3,728,000
rag 1,096,000
403 XIS H S0l & 1,096,000 4,824,000 ~3,728,000
= 1,096,000
01 HXHNMAHEE = 1,096,000 4,824,000 N 3,728,000
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&= M RIsLH
sol WA B3
S Of M AND|BEE A (SHol: @)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OLALEFINL ALY 1,096,000
s 1,096,000
A2 IR ALY 562,500 0 562,500
as 500,000
< 62,500
403 UtXISHH S0l & 562,500 0 562,500
s 500,000
< 62,500
01 XM A=2EE 562,500 0 562,500
OLA2 ==& AL 562,500
s 500,000
< 62,500
U sZEEI8tAI48 FHIAMY 1,000,000 0 1,000,000
403 A X EHS =0l A 1,000,000 0 1,000,000
01 X EHHMA=E L 1,000,000 0 1,000,000
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J| 3,315,450
< 3,040,670
=% Eddis XA 270,750 300,000 A 29,250
J| 270,750
403 MtXISHH S0l & 270,750 300,000 A 29,250
J| 270,750
01 AXSHMA=2E X 270,750 300,000 229,250
ON=s=2x E%dlst X 270,750
J| 270,750
dHH FSE s 64,800 64,800 0
308 XtXIEHH SOl A 64,800 64,800 0
01 AXHHILEES 64,800 64,800 0
OUHIMEX ItZEL LsH 3= 64,800
=N 22 100,000 100,000 0
308 A EHHSOIA 100,000 100,000 0
01 HXNHHMBHEELS 100,000 100,000 0
OXN=dzM 3= 100,000
NS HA JIEtEE ALY 507,410 367,410 140,000
308 XX EHH SOl 151,450 111,450 40,000
01 HIXNHHNBNEES 151,450 111,450 40,000
OHEXMelbl(HlE) XA 100,000
OsgAg ZT& X 51,450
403 MHXSHHSA=0l& 355,960 255,960 100,000
01 HXSHMA2E X 355,960 255,960 100,000
OXAE ===Ztdl XA 228,960
OXAE JIBAE E2 27,000
OsAlE BA2 2EAME MEAHL 100,000
SNMFIEEXN Bz 20,160 19,200 960
308 XX EHHSOIA 20,160 19,200 960
01 HIXNHHBNEES 20,160 19,200 960
SMNZEIEEX B3 20,160
OHOZdlol&E CHaY 400,000 400,000 0
308 XXM SOl A 400,000 400,000 0
01 AXHHBLEES 400,000 400,000 0
OAMZE= MAXA 400,000
JEE sHasIt |]4 48,600 48,600 0
308 MtXIEHMSOIH 48,600 48,600 0
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 48,600 48,600 0
OzgIsYz U=t ®4 48,600
SAMAE EZME 518,800 418,800 100,000
308 XXM SOIA 28,800 28,800 0
01 AXHHBILEES 28,800 28,800 0
OHXNDIIZE & XA 28,800
403 A X EHHS =0l A 490,000 390,000 100,000
01 X EHHMA=LE L 490,000 390,000 100,000
OrEIF4H ALTH EF 400,000
OJN=s=2=Hdel &8l 22 90,000
At el X (€220l M =8l 2,464,000 2,400,000 64,000
J| 1,540,000
< 924,000
308 XtXIEHH SOl A 2,464,000 2,400,000 64,000
J| 1,540,000
< 924,000
01 AXHHILEES 2,464,000 2,400,000 64,000
OAelX(g290l) M=t 2,464,000
J| 1,540,000
< 924,000
TAE S22l X& 10,400 10,530 A 130
J| 8,000
< 2,400
308 A EHHSOIA 10,400 10,530 A 130
J| 8,000
< 2,400
01 HXNHHNBMNEELES 10,400 10,530 A 130
OXAg S22l XA 10,400
J| 8,000
< 2,400
EME FEH ZH XA 85,500 95,000 A 9,500
J| 45,000
< 40,500
403 X SHHE A0l & 85,500 95,000 A 9,500
Jl 45,000
< 40,500
01 X SHHMA=2EE 85,500 95,000 A 9,500
OXAE BEH Edl X& 85,500
J| 45,000
< 40,500
OHY| &L H|l X3 241,000 193,400 47,600
J| 241,000
308 MXIEHSOIH 241,000 193,400 47,600
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Jl 241,000
01 HXHHNBIMNEXTS 241,000 193,400 47,600
OoHH| &2 Hl XI& 241,000
J| 241,000
AMNEeHE2 S 840,000 672,000 168,000
Jl 600,000
o= 240,000
308 XX SHHSOIH 840,000 672,000 168,000
Dl 600,000
& 240,000
01 AIXHMBAAEXZ 840,000 672,000 168,000
OANEEHE SIH 840,000
Dl 600,000
< 240,000
OHH| M AFAI A A X 261,100 138,300 122,800
Dl 149,200
= 111,900
403 XX S S K201 A 261,100 138,300 122,800
Dl 149,200
= 111,900
01 HXHNMAHEE = 261,100 138,300 122,800
OHH|MAAIAE AX| 261,100
Dl 149,200
& 111,900
IEE: d3HE4+ XA 185,500 0 185,500
Jl 185,500
403 XX S M S X201 A 185,500 0 185,500
Dl 185,500
01 MXHHMAHE2BE = 185,500 0 185,500
OJF}=sER 32+ XN 185,500
Jl 185,500
ICT &= J|AHEE XS 117,600 0 117,600
Dl 96,000
o= 21,600
403 XtXISHH S K201 117,600 0 117,600
Dl 96,000
o= 21,600
01 MAXHNAESE = 117,600 0 117,600
OICT &F=H J|IHEH K& 117,600
Dl 96,000
< 21,600
2SI SAIAE HES 220,500 0 220,500
Dl 180,000
= 40,500
403 RX S HS K0l & 220,500 0 220,500
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< 40,500
01 HIXSHMA2E X 220,500 0 220,500
OZ3sXHASAE HES K& 220,500
J| 180,000
< 40,500
dEZE @ 2SI &5 375,102 1,104,690 AT29,588
| 238,540
< 136,562
M2 fSIIE &= 65,000 85,000 220,000
307 21201 A 65,000 85,000 220,000
02 HAFAASFEE 15,000 15,000 0
OsE=SEL S2os st LN N2 15,000
04 DIZHHALALSE E X 50,000 70,000 A 20,000
OB= sey BYcy =7 50,000
MIOII0IFHM(AHES =) 310,102 380,490 AT70,388
| 238,540
< 71,562
308 XXM SO0l A 310,102 380,490 AT70,388
| 238,540
< 71,562
01 IXNHHBNEES 310,102 380,490 AT70,388
O=42 0l"8H (& AESHY]) 310,102
| 238,540
< 71,562
A& F4DIEH- 25N A =4 1,043,775 791,544 252,231
= 74,000
s 30,000
| 65,250
< 874,525
&SHY |4 366,500 355,600 10,900
308 XX EHH SOl A 285,500 235,000 50,500
01 IXNHHMEBAMNEES 285,500 235,000 50,500
OL=4ty 3dH A3t 278,000
OESE 83 2=2X& 7,500
403 MHXISHE X201 H 81,000 120,600 A 39,600
01 AXSHMA=2EE 81,000 120,600 A 39,600
Oz dis Melddl X& 81,000
=N ALY 129,000 69,000 60,000
308 XtXIEHH SOl A 129,000 69,000 60,000
01 HXNHHBHEELS 129,000 69,000 60,000
ODNsY Al HadFH 25 60,000
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OAls Mg (elzx3d) Al 9,000
OFg=as HIS2A=E & 60,000
FSAAIE S ALY 120,000 99,000 21,000
403 XtXISHH S K201 120,000 99,000 21,000
01 HXHNMAEE = 120,000 99,000 21,000
OJI=E J|=ds HWEAL(8ZME)X 120,000
s=2 5. 21X 125,000 100,000 25,000
308 AXISHXMSOoIH 125,000 100,000 25,000
01 HXHNBMNEXTZ 125,000 100,000 25,000
Os2sX 2ASAIY =0 45,000
Oss=2sHdH 29 80,000
LESESI ESAEY 30,000 30,000 0
Dl 30,000
308 AHXI S M SO0l & 30,000 30,000 0
Dl 30,000
01 AXHNBMNEXZ 30,000 30,000 0
OR+ZTE B2 30,000
Dl 30,000
2SN FHMHE 2AUG 69,000 60,000 9,000
308 AXISHXMSOoIH 24,000 15,000 9,000
01 HXHNBIMNEXTZ 24,000 15,000 9,000
O2sAMNE #2018 24 15,000
O=28 RSAEH 2 9,000
403 XX S S K201 A 45,000 45,000 0
01 AXSHNMAHESBE = 45,000 45,000 0
2EAN2=IH AlE &Y XS 45,000
MNEE E 222 ESXA 4,000 0 4,000
Dl 4,000
308 AXISHMSOIHA 4,000 0 4,000
Dl 4,000
01 AXHHNBIMNEXS 4,000 0 4,000
ONES ¢ 22 94X 4,000
Il 4,000
2020 SHSAY X2 19,500 40,128 N 20,628
= 19,500
308 XX SHHSOIA 19,500 40,128 N 20,628
= 19,500
01 AIXHMBAEXZ 19,500 40,128 N 20,628
OZNA0 SH3AIY K& 19,500
= 19,500
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308 AHAIEHHSOIA 86,650 37,816 48,834
= 52,000
< 34,650
01 HIXNHHNBHELS 86,650 37,816 48,834
ORJIssS 2L E XN 53,650
= 37,000
< 16,650
ORJlsE +%, Es H&E XA 33,000
= 15,000
< 18,000
SANEE NE 2,500 0 2,500
= 2,500
308 XX EHH SOl A 2,500 0 2,500
= 2,500
01 AXSGHBLELS 2,500 0 2,500
OZANZE XA 2,500
= 2,500
BleisE & =sd 51,000 0 51,000
s 30,000
< 21,000
403 XX SHH S X201 & 51,000 0 51,000
s 30,000
< 21,000
01 XM A2E X 51,000 0 51,000
OtteisE =0IH &X 51,000
s 30,000
< 21,000
EZTE LMY 40,625 0 40,625
J| 31,250
< 9,375
308 XX €I S0l & 40,625 0 40,625
J| 31,250
< 9,375
01 AXHHILEES 40,625 0 40,625
OESE sS4 40,625
J| 31,250
< 9,375
=201 2435t 7,541,900 2,210,570 5,331,330
= 5,591,000
s 308,000
< 1,642,900
=8 0y =4 7,541,900 2,210,570 5,331,330
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=S QB 4kt E AR 344,000 344,000 0
= 320,000
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< 24,000
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= 320,000
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s 280,000
< 35,000
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s 280,000
= 35,000
01 AXHHILEES 315,000 315,000 0
OSSR E= 315,000
s 280,000
< 35,000
XNoHLFZS T A 35,000 35,000 0
s 28,000
< 7,000
308 XX EHHSOIA 35,000 35,000 0
s 28,000
< 7,000
1037/ 2S0HUHeBHEAEALS I 35,000 35,000 0
OXHEEF STHEZA 35,000
ras 28,000
< 7,000
SHAIAY HES AL 137,700 112,200 25,500
= 81,000
< 56,700
308 XXM S0l 137,700 112,200 25,500
= 81,000
< 56,700
01 IXNSHHBNEES 137,700 112,200 25,500
O%AIH &3 137,700
= 81,000
< 56,700
HZ2 oYl SHAEALD ol 12,000 12,000 0
403 XIS E X201 H 12,000 12,000 0
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01 XIS A=Z2E X 400,000 0 400,000
OgEUX Ol2 283 AFY 400,000
= 350,000
o= 50,000
AAsHelogsy 62,000 99,200 A 37,200
= 50,000
= 12,000
403 XX SRS R 20| & 62,000 99,200 A 37,200
= 50,000
& 12,000
01 MHXSHAHXNE2E X 62,000 99,200 N 37,200
oxszelg &4 62,000
= 50,000
= 12,000
S5 M=X Na3 A 838,500 0 838,500
= 645,000
& 193,500
403 XX SHHS K20 & 838,500 0 838,500
= 645,000
& 193,500
01 IS A2 X 838,500 0 838,500
O8E MN=X st ALY 838,500
= 645,000
& 193,500
W0 A AlE & 396,000 0 396,000
= 360,000
o 36,000
403 XX SHHE X201 A 396,000 0 396,000
= 360,000
o=t 36,000
01 XIS A2E X 396,000 0 396,000
OF&H WS HIHA Al 396,000
= 360,000
& 36,000
W=t ADIE QXA A|HSX] =4 3,000,000 0 3,000,000
= 2,500,000
& 500,000
403 XX SHHS K20 & 3,000,000 0 3,000,000
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01 XIS A=Z2E X 3,000,000 0 3,000,000
O™ ADEAA AEHAX XM 3,000,000
= 2,500,000
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HEd W8 dII0d 85580 E5 39,500 0 39,500
= 35,000
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403 UHXISHHSA=0l& 39,500 0 39,500
= 35,000
< 4,500
01 HXESHMA=LE L 39,500 0 39,500
OFEE W= HIE 2558 2 39,500
= 35,000
< 4,500
SAE e ML XA 295,000 0 295,000
= 250,000
< 45,000
403 MtXISHH S0l & 295,000 0 295,000
= 250,000
< 45,000
01 X SN2 L= 295,000 0 295,000
OAZ B2 ML EXAY 295,000
= 250,000
< 45,000
JE QUENI SEEXN MAAE £ 975,000 0 975,000
= 750,000
< 225,000
403 A X EHHS =0l A 975,000 0 975,000
= 750,000
= 225,000
01 X EHHMA=LE L 975,000 0 975,000
Ozed BIE2)| SEYSA MeAlL 975,000
= 750,000
= 225,000
HY2FZH (F4410H) 38,878 58,317 A 19,439
Jl= &l 38,878 58,317 A 19,439
Jl=dl 38,878 58,317 A 19,439
201 Let24d] 12,418 18,627 A 6,209
01 At 22l 12,418 18,627 26,209
OJl=+=EHl 5,068
OPIE=1i:] 7,350
202 (44l 26,460 39,690 A 13,230
01 S LHOIYI 26,460 39,690 A 13,230
OJlE0l 26,460
HeEs(Sa4t10) 101,500 101,500 0
HEHH XK= 101,500 101,500 0
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SA-FH . B (3H) - NEAY ofl &k o San HDE2
A 17,786,510 16, 158, 156 1,628,354
= 10,065,103
Dl 3,492,735
& 4,228,672
Ay 23 15,238,920 13,622,256 1,616,664
= 10,060,853
Jl 2,028,915
o= 3,149,152
StAAE =& 13,806,468 12,324,244 1,482,224
= 10,060,853
J| 2,028,915
o= 1,716,700
MY LA WESE 2 XN (HE 15,000 15,000 0
= 7.500
o= 7,500
201 Bt A H| 15,000 15,000 0
= 7,500
& 7,500
03 Al E H| 15,000 15,000 0
OJIEed JHASE(E) 15,000
- 7.500
== 7,500
THS LA KYAE PY XA 6,699,469 5,478,397 1,221,072
= 6,149,353
= 550,116
308 AXISHXMSOIH 6,699,469 5,478,397 1,221,072
= 6,149,353
= 550,116
01 AXHNBMNEXTZ 6,699,469 5,478,397 1,221,072
ONSFHE=AF £ JMs A 4,102,140
= 4,102,140
OFA&XE GPS SHZD| AAINMA SAH 2= 59,888
= 46,068
< 13,820
OJIE s KA AFZE 22 80,000
= 80,000
OJIs 2K &=, A2 Xl 1,160,000
= 800,000
< 360,000
OFHE HEES Al=bl 526,500
= 405,000
& 121,500
OFMY BAES 23tH A& 86,790
= 86,790
O B24tY & 28y HWEEH 303,300
= 303,300
OYXNA22HEE XK AMH 24,000
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= 182,655
< 54,796
OJdtesot 2822 X& 33,000
= 33,000
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= 86,400
s ARd=S AR oA XA 1,091,800 1,014,900 76,900
J| 655,080
< 436,720
307 21201 A 1,091,800 1,014,900 76,900
J| 655,080
< 436,720
03 QIAHNHE2IHIEE 1,091,800 1,014,900 76,900
ONsAdYgdAld=: 29 1,091,800
J| 655,080
< 436,720
SsEHHY 23 954,999 791,157 163,842
J| 869,835
< 85,164
308 MXIEHMSOIH 954,999 791,157 163,842
J| 869,835
< 85,164
01 HXNHHNBSELS 954,999 791,157 163,842
OS2 HE 1Al 510,985
J| 425,821
= 85, 164
OZSYRS 2| 444,014
ol 444,014
ANEEAS 3,357,000 3,937,500 A 580,500
= 2,984,000
< 373,000
308 XXIEHHSOIA 3,357,000 3,937,500 A 580,500
= 2,984,000
< 373,000
01 AXHHILEES 3,357,000 3,937,500 A 580,500
O&dxdz 243 3,357,000
= 2,984,000
< 373,000
N=EEEINSEE ANEAS 90,000 0 90,000
308 AHAIEHHSOIA 90,000 0 90,000
01 HXNHHBHELS 90,000 0 90,000
OJ=2Y g8 90,000
Sty 2 EY AAZH S X 143,000 795,960 652,960
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= 120,000
= 23,000
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= 20,000
OJ=sedAxz XA 15,000
= 15,000
O&X=Z JIF 0S4 Hel &l 78,000
= 60,000
< 18,000
OFH2AHANE AEASD) 30,000
= 25,000
= 5,000
Jt=sJt CCTV & &9eloe X& 655,200 291,330 363,870
J| 504,000
< 151,200
403 MHXSHHSA=0l& 655,200 291,330 363,870
J| 504,000
< 151,200
01 HXSHMA=2LE X 655,200 291,330 363,870
OJtasJt CCTV & ggel=Zet X 655,200
J| 504,000
< 151,200
SHz4A29 2 ASHIENS 800,000 0 800,000
2 800,000
308 XXM SO0l A 800,000 0 800,000
= 800,000
01 IXNHHBNEES 800,000 0 800,000
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= 800,000
=xgy oy el 1,432,452 1,298,012 134,440
THE g 335,600 280,600 55,000
201 Let2d] 11,600 4,600 7,000
01 At 22l 11,600 4,600 7,000
OJN=¢LY9sESE HMHE B3 3,000
OFHY, ANERUERAUI) SLELSAURS
= gl 1,600
OBt & ==ZHl 7,000
308 XXM SO A 288,000 240,000 48,000
01 IXNSHHBNEES 288,000 240,000 48,000
OFHY LS ZotA 288,000
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01 X SHMA2E X 36,000 36,000 0
OFAUE LAY ARALASA| 36,000
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308 XXM S0 A 529,112 484,112 45,000
01 IXNHHBNEES 529,112 484,112 45,000
O2cl Al Ol S0 64,112
OAl SXJIH K& 465,000
403 XSS =0l & 40,500 40,500 0
01 X SHMA2E X 40,500 40,500 0
OAl Ol HAAIE JHA 40,500
YA 2F 219,180 219,180 0
308 XXM S0 A 177,180 177,180 0
01 IXNHHBENEES 177,180 177,180 0
OoaxsssE s ¢ 73,500
O32A &SI 103,680
403 HtXISHH S0l & 42,000 42,000 0
01 XM A2EE 42,000 42,000 0
Os&sgd7 AsALsD| 42,000
= IIEdgY 2H 306,060 271,620 34,440
308 XX EHHSOIA 306,060 271,620 34,440
01 IXNSHHBANEES 306,060 271,620 34,440
O A8 & deA 66,000
ORABAZ ALE ALY 36,000
O2=E Hg8 HEAY 60,750
Oga ES01Y ol 25,440
O2H g LA 78,870
OL=E dgY LAY 39,000
S= LA Al 2,000 2,000 0
206 M= Hl 2,000 2,000 0
01 2l 2,000 2,000 0
O=s28 A4S =HHlIE 2,000
SAE o™ 2e] 2,505,712 2,535,900 A 30,188
= 4,250
| 1,463,820
< 1,037,642
et g st ¥ 7RSIl 2= 2,505,712 2,535,900 A 30,188
= 4,250
| 1,463,820
< 1,037,642
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